m SKID PLATE INSTALLATION MANUAL

E MONTAGEEINLEITUNG FUR UNTERBODENSCHUTZSYSTEM

For: Yamaha Wolverine X2 (2019-2022)
2444.7174.1

§O--

WWW.RIVAL4X4.COM


1
Прямоугольник


<,
Q%

©
=

¢

&k

A

7

EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Far wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Dirill
DE Bohrer

EN Screwdriver
DE Schraubenzieher

EN Office Knife
DE Blromesser


1
Прямоугольник


EN Ratchet
S-10;
( DE Ratsche @ °.13 / M6

\Q N
= 3 ) x1 x2 | M5x30 x2 | M6x25 x2 | M6x20
5] 5 0 i3] 2
\
& T &, = &)
M6x25 x4 | M6x16 X2 | M8x25 X2 | 6 x24 | M6 x9| 28



1
Прямоугольник


o :oo )

m
— /] fﬁ\//////%



1
Прямоугольник


version 2



1
Прямоугольник




1
Прямоугольник




1
Прямоугольник


6;10~\ . | 6;10 \.

PO

M6=10 Nm

L)

10;11



1
Прямоугольник


-‘é‘f&
=10 Nm

M6



1
Прямоугольник


P

M6=10 Nm

ooooo

ooooo



1
Прямоугольник


